1. Is 3:5 equivalent ratio to 12: 15?
A. Yes
B. No



You are right! Go to next.



You are wrong! Try again.



2. Is 6:9 equivalent ratio to 2:3?
A. Yes
B. No



You are right! Go to next.



You are wrong! Try again.



3. Is10:25 equivalent ratio to 2: 5?
A. Yes
B. No



You are right! Go to next.



You are wrong! Try again.



4. Is 1:4 equivalent ratio to 5:207?
A. Yes
B. No



You are right! Go to next.



You are wrong! Try again.



5. Is 1: 100 equivalent ratio to 20: 20007?
A. Yes
B. No



You are right!



You are wrong! Try again.



